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How de we know regarding the - 1712 79225% jnasw 300w nidp NINR
moderate deaths, whose accidental transgression can be forgiven

Overview

We derive from the P09 of! 7797 X% 078771 172 077 W 0711 (92), that one cannot redeem
himself from 7"°2 mn», but rather he has to be executed. The &1 asks, perhaps that
only excludes 717937 103w 710°1 KW MR MNa, however by 1N 7N M Mnon
7190, perhaps one can redeem himself from this 7n°. The X3 answers that the
word 92, includes those mn» as well. There is a dispute between MoLIN >"WA as to
the meaning of 717937 AW maNAIW M%P M.

- 129 15 HY 19995 INNVY IV HNAY M9 NAYY D52919 HNAY NI 2090372 U
s"w explained that m>p mn» refers to idol worship, doing work on naw, and
incestuous relations; for one who was a aw on these transgressions can be
forgiven through bringing a 329p -

- YY) 21 HY 19995 MY NI’ N 3)9)
And similarly a murderer 32, also has the opportunity for forgiveness

through going to M®3. According to *"w7 a n¥1n is included in those jnxw manvaw Mvp M7
m92%.

nvoIN asks on °"'wAo:;
= NP 73 HINPN XYY DN YD) DN TIIVNIN ININ “NIPDNY 15 ORT NYPH

And this presents a difficulty; for if indeed it is so (as >"w7 maintains that X117 is
included in 79937 1023W 1NIW M2P Mn°»), why, in the conclusion, do we require,

three verses; 271 92,271, and 11X17 W15 192 1PN KDY -
= 119995 NIV INNIY D192 TTY 1M 199Y 7919 10T %D 09N 1999 NN NYa

It will be sufficient if we have only 9912 1pn 8» and 2917 (without 22); one 105 for

13,19 (Cnpra) X
2 mn a"7a. The rule is that any 7772y for which one is 073 270 (if it was done 7°tm2 without 7% nM 277V [as these
are)), if it was done 2w3, one is forgiven by bringing a j27p.
3 In >"wA the text reads M3 NAW? 7193 VW m¥1N "N,
4 See X,mM.
3 The X3 shortly asks (see X2 82177"7 >"w1) why do we require 27 99 to include n2p mna (see ‘Overview’), there
is a P09 of n¥1N Wo1% 1913 11PN X which teaches us that by a n¥11 (who is included in M%p My, see MmN "7 2"wA)
one cannot pay 1913 and redeem himself, so we already know by m>p min>» that one cannot redeem himself, why do
we need the additional 7°% of '95'?!
® The Xn3 answered that we could establish 7913 110 X721 in a case where he killed him 77%v 777 (in an upward motion),
in which case he will not go to 2 w2 n¥23. Therefore 11PN X7 is not by nMp Min, so we need the 95 for M7p mnn.
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killing 5199 797 (which is for 77937 J023w 110°1 X9w MMan minn), and the other P10d

for killing 57799° 997, which includes a 7529 nasw now 79p 707 -
= DYVNPN WINPT MYP NN 139N

For, according to >'"'w= a 77> 777 n¥1M is included in 771923 13w 7101w nbp ninox.
Why, according to *"w7 do we require three 2’2109, when two are sufficient?!

moon offers his interpretation:
= YN XY MYP MNNIT AN 729

Therefore it appears (to No01n) that the X3 does not include in nbp NN -
- 1399 515 HYIN 710 15 YY D999 INMY 1NV 11D NN

Only those transgression whose 32 can be forgiven either through paying money
or through bringing a 329p -

- 8153 545 HY NUN 1192 1> HY N999Y INNVY 1193 XY N¥YY YaN
However by a murderer, his 332 cannot be forgiven through money (or a 127p),

but only trough ni%3, so he is not included in 77937 13w U1 M2p ML -
- 1299 1 Y NI99Y INNY 113 XYY MHININ MNS KIN 39 PN N1II2T INWITPD 991)

And this is the explanation of the Xn>"92, we only know (from 0117 [22]) the nins»

77225 A 301 R nyn through a 3297 (or money) -
= N1 1PN APYUN N2AN A1) 1001 12 99 10 PRY MNIN 93939901

Which refers to all nins» for which there is no n9> by them, for instance a n%o»

and a 7>7» and a false prophet, and a rebellious elder -
= YA) 239 1IN AN YUY 1IN AN 1919

And one who wounds his father or mother, and one who curses his father or

mother, and one who kidnaps a person -
=INNY DY 1299 NN PINT (3,5 91 M9 99INRT 19297 NAIIN 970

And a blasphemer according to the 3129 who maintain in n¥n>3> n>on that a 77
does not bring a 329 if he was a 3w -

71t is not clear which m»p min>» are included in 177 >"y 7793 N1 N
8 M1 is a much harder 7193 than a nXwn 127p, for by M3 you may have to be there for many years, while a nXvn can
be bought quite cheaply and it is over and done with (see 8,17 w"&27 'o1n). Therefore we cannot include M3 with the
other M%p Mn>m whose 77957 11N1 1N through a nxvm 1277.
 moon needs to write this 'xw1%0 "3, since the flow of the X713 seems to support *"w79. The X3 states first that
o711 excludes/refers to n1van ninon, and secondly 93 refers to m%p min. The X3 than asks, seemingly on this second
point (that 95 refers to n?p Nn), but we can know this (M7 NN ) from n¥17 wWo12 7910 PN R, which indicates that
men wo1 is included in M%p mnon. This concurs with >"w15. However according to maoin that m¥1n is not included in
m>p My, it is necessary to explain the question of 71n NYAY 1913 PN RN R0 K21, since n¥I7 is not M?p NIy,
what is the X n3 asking?!
19 A non is one who instigates someone to serve 777 7712Y.
" A n is one who takes part in corrupting a city to serve 1"v, making it an nr737 Y.
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= NN NYYN I PRY ‘]‘TM:‘) V99 NNV NWIYY 239n97
For it is written, for the one who does it inadvertently, excluding a n7a», where

there is no deed, only speech. And a murderer is included in M mMnn. These all

derived from 1775° X2 "3 0917 -
= INNY YY 1299 XYY N9 172 WIT NP NAYI D291 NTIAY 1D MYTP M)

And the mbp mno for instance 1"y and naw and nyy for which there is na2 (if

it was done 7°tm2 without 7870 2*7V), and he brings a 3399 for A3, we derive that

he cannot redeem himself from these nin°», from o717 23 -
= 9919 PN NIN N NYNY NIMN KDY 7999

So the X7 n3 asks, ‘but cannot we automatically derive it from 2212 ¥Pn 8%’ (which

is written by a 1x17) -
= NN NN RIP 9 NNDY MNINMIN MNN Y 119¥NY DNHM

And from 1¥17 we can derive all the nymr nanon, so why do we need a o2 for

NINAM NINOA, since we can derive them from 11X which is included in the n»n Mnon -
= 3N9D o998 ONTY MO Mnnb Yan

However for nY»p nino» we certainly need a 105 -
= 995 19957 1MW IN XDV NDY 7990 10 1IN MINNIY INIP 99 TIIVNINT 23U

And the X7 answers that we need two 2502 for the nymmn nIn» (meaning a

nx¥1M), one P00 for ;7995w 777 where his 3372 cannot be forgiven at all -
- 13m)h) 595 HY 19999 INNIY 1Y AT 7919 M)

And one 09 is for 77797 797, whose 332 can be forgiven through nx —

nvoN asks:
- MYP MIN 53NY NP PHVN INNT NN )3 PUNY 13539 "HYP

The X'"2w" has a difficulty; why do we need a o5 for n¥»p ninsn» s2%n -
= 155793 9107 13991 9919 9INY 1N)3§ 9919 OV TV NNT NIV NaYI D200 HTIY 1IN0

Like naw ,1"'v, and N1y, for how is 121> possible there, according to the one who
maintains that 291> refers to the value of the victim —

12 Regarding serving 3x1w3a 1"y the 77N writes in ©3,0 (77Ww) 72772 that the rule of bringing a 1277 is for anyone who
was 7w b (he did it inadvertently).
13 The question then according to Moo is; we can derive MR Mk from 91 11PN X% and M%p M from " 09N
779’ X9, so why do we need the additional 53?!
14 The three o109 (of @711 92,070 ,7910 11PN &Y) are required for 77937 1AW 73N X5W MAvan mnoa (including X7
7%y 77), for 77> 77 N¥11 where 77957 10w 7101 through M3, and (MynY) 1277 "y 71937 JNw UMY N9R Nnen.
15 There is a dispute regarding the 7913 payment for a 727 M who killed a person; does the 1913 consist of the value
of the ox’s owner, or is it the value of the deceased. According to the one who maintains 21°1 *»7, why would we even
think that by m%p min *2>1 he can redeem himself with money (since by a 97017 W he can redeem himself), the
whole concept of p1°1 °»7 is inapplicable to all the m7p nnn 27,
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N190IN answers:
- RYOY NPINA 12 1IN 239 HY 133 INYNIY? 2297 M

And the X"2w1 answered that the Xin of this Xn»12 (who is) 2''2% Hw 12 ",

follows his reasoning -
SO 9197 YV 19279 154N (x,1 97 xnp xa3) 7NN 7T NNIY NIV P92 INT

For he maintains in '™ '7 naw 92 92 that the P10 of ywo1 31972 1111 (and he shall

give the redemption of his soul) refers to the value of the P31 (the owner of the ox).
Therefore in the other cases the 1913 refers to the value of the person who transgressed.

Summary
According to *"w1 a ¥ is included in the M%p Mnn (since 77937 AN 10°1 though

m>3) while M0N0 maintains that a %11 is not included, since we require M>p NN»
7797 3N 1N through 1279 or an.

Thinking it over

1. Seemingly the dispute between >"w1 and N1901n is only whether a 11x¥17 is included
in 77957 12w 1w mp mnn. Why therefore was it necessary for n190In to explain
at length which are the M7 M and the M%p mn*», which are the same as >"w9
explained them (with the exception of n¥17); why repeat them?!

2. Is the question of the X"2w" on both *"w75 and Md0IN or just on one of them?

3. Why does the X"2w" ask only concerning m%p minn, the question can (seemingly)
be asked regarding n7van mnon (as well), how would P11 °»7 apply there?

16 The o9 (in 7,85 [D°0own] Mnaw) regarding the payment of 9913 reads; 12y NWP WK 953 101 P72 103) 2¥ WY 1932 OX.
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